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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[P

|

Th JH s qae, e ges
& HISAE WY HA: Sal & quT T9Y
Hh AT Bl & ¢

[1] smisses aderT

[2] stierT aierer

[3] T qeror

[4] Foaes aderer

e N e B N e | I E G
fafe divear wX A feniiE & 8ie
e, Al fawd & AT wHH

TR T & e & SR @
GEq & TiafafeEt & SYEET @ ©

[1] Sg-8adl e
[2] & forerer

[3] Hedrl AR
[4] AR AR

cav o) M | s [ M 1 oo b M | G [
e & g IUNH F G B 7

[1] SR IarH

[2] T SUFMH

(3] 9 FafT S
[4] ANl SURH

Level-3/904

[~

|

1.

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3]".Speed Test

[4] Performance Test

A teaching-learning strategy in

which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching
[3] Co-operative learning

[4] Programmed learning

of
to which

Spranger's classification

personality is related

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach



[A]

4. f=fifeg & @ a9-o felRE &
D NS WA B T 787 8 7

[1] I g § &
[2] Sl | S
[3] SO et T WAl &1 &

[4] oraifed et &

‘S T B MU HIA-far ) i
g § ommd &ar §, @ a8 o1
P ST Bl A T Fhe FX aal &I’
7€ fhd TH &l TSR o & Th
I § 7

[1] &4 [2] SfcRTA

[3] w&9er [4] fereamos

s & deme fem Reid @
APER, ‘GEHHD G Bl T
T 31, SN Rl HEIS HdeR
3 fharae ¥ "ag @Rl /) awean
-

[1] 9es yafed  [2] oSt
[3] @i [4]. G
‘T g @ AR &R | G %
Y T B B I B &9 A
qRE R ST @ © — Ha a@l
ded, 3 [ER 9 udhipd &, 39
TP OIR 36 JaEfa &
HTo® el I8 qRA fohee A
g ?

[1] Fad Mane

[2] AFX w§ dieX &alld

[3] X wd =g

[4] BTeaREd

|

|®

[~

Level-3/904

[4]

4. Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and
limitations

[4] Free from undesirable worries

'When an adolescent is unable to

g

show anger to his parents, then he
shows ~his vanger to his younger
brother." This is an example of which
type-of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive

|®

Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes
[3] Schema

[2] Basic Instincts
[4] Conservation

"Emotional

[~

Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of
[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson



[5] [A]

8. F=fofed & 9 f9-90 AR HIGT 8. Which one of the following is not a
B T gy Ay F8F R ? direct method for measurement of
(1] @R (2] SAT E[‘f]i“;df L 2] Project
> nterview rojection
[3] st 4] [3] Questionnaire [4] Observation
9. TH Eh% B UMl B U AT ST Gehdl 9. 'A horse can be brought near water,
g, forg U & o s W fpem S but cannot be forced to drink." This
qadll’ I8 I ’ﬁﬁ@%‘cﬁ ® 9ed & statement reveals the truth of
fpe oM %I T T BT © 7 Thorndike's which law of learning ?
[1] e &0 5= [1] Law of Readiness
[2] =9 &1 [2] Law of Exercise
[3] 999 & | [3] Law of*Effect
[4] sEdfcishar &1 fEm [4] L.aw of Multi Responses
10. fHfcRgg & 9 HIFA-AT QT B '] 10. ‘Which of the following is not a level
TE e ? of teaching ?
[1] STET &} [1] Basic Level
[2] Hfq &) [2] Memory Level
[3] M@y &R [3] Understanding Level
[4] i &) [4] Reflective Level
11. =ffed & 9 HF-A1 ST & 11. Which one of the following is not a
it o Rrsia & el R ? part of Bronfenbrenner's Ecological
System theory ?
[1] w3kl foeeq [1] Micro system
[2] Bt foreew [2] Macro system
[3] A=Y fred [3] Minor system
[4] 9ar faeed [4] Meso system
12. G Ug qd El?{i%f & g4 ¥ -4 12. Which pair is not correct with reference
W GEl 7e g7 to emotions and basic instincts ?
o T TgR Emotion Basic Instinct
[1] g - ﬁ@_ﬁf [1] Anger — Repulsion
[2] SAEeER - T [2] Ownership - Collection
[3] sng=d —  foEm [3] Wonder —  Curiosity
[4] 9T - q@Ed [4] Fear —  Escape

Level-3/904 P.T.O.



[A]

ERI U Gl SN CE A TG M|
BIF-81 TH s UG § 7

[1] QiR W ==

[2] FESTs qedi W Fee SieEi
[3] EHfeeh TafafEr 1 SR

[4] @mfoTs Hedgl T gares

I % AEEERAl R e @

AR, ‘HHM & AR (b
U Pl AR & °

[1] R

[2] |mMISTS

[3] Sifs®

[4] HaTET®

frfefag & @ #9-@r S
Ngal B YOHTHEAT qOEeT § gefd
& =7

[1] STETER I dedl H
[2]3:?%#@%%@@?%14&%

[3] IR guR G4 P

[4] 981 T ST el deidt P

fr=fofeg & @ ®F-91 Fu99 Jgas
fafrTarel & ded & @& &8 ?

[1] ®F & & = gl &9 F T8
B T

[2] Jafs o errT-or &t
O GeEfd & gl 2

[3] Jafre fafra faem & e
MM N g B

[4] FafEs el &aw
SATERTET & HROT IAH BRil B

Level-3/904

[6]

Which way is the most appropriate
for social development of
adolescents ?

[1] Discussion on socialization
[2] Essay competition on social values
[3] Organizing group activities
[4] Documentary on social relations

According to Maslow's Need
Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] 'Emotional

Which of the following task is not

related to Bager Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

[4] Ask and guess related task

improvement related

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.



17.

i AEFAT W AT 4y &
S B He S o ¢

NEEENE [2] gsad
3] T [4] 3TESi®

W Heet & e g o§ od
PTG A< HH &G GaT© 7

[1] g iR e

[2] SieT MR g

[3] G AR T

[4] S AR e

Presig sl & gar, e |
q B9 Y& H TH TER ToT S ¢

[1] RQYomTeds  [2] GoAEs
[3] difoen [4] e
Fleae & HEATaR, 8 A &R

P At €, 99 AfiedlH -
Afve forsia afafad 2 9 & ?

[1] gE-®feT

[2] e

[3] SR-EIET

[4] 9 | Bi5 T

21. Hfefad § @ -9 fearmEen #

U e S 78R 7

[1] J& ST &I STaeer &

[2] IE STATEIRAST I ST
[3] IE TEAN & @S # 999 &l
[4] 98 ATRA H B 2

Level-3/904

[Z]

9. According

[A]

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type

of intelligence ?
[1] Analytical
[3] Theoretical

[2] Creative
[4] Practical

According to Kohlberg's theory,
what level of morality is it, when
includes

morality self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional
[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.

P.T.O.



[A]

22.

Al AhAT B TR ey
weer  fees g faeta e
™7

[1] M & 9F =

[2] S

[3] emgelss

[4] e wd ded

23. 99 T% MiEd d@n ¥ yfaseael &

& & ARG H JAEAH e
fer Smar 2, @ g8 fRE v @
g STEE © 7

[1] fHig= st

PR EERERISRERRIG]

[3] FiYEa ofaa

[4] uREcHelid Sfaaa

et & wfe faem  RsamEr,
fepSMrareen & -

[1] Sfces arafasman. @l erawen
[2] 3S1@ @l Afcewar i staen
[3] T AfrBT @i STae
[4] @R A B T

25. MHRad § @ S-91 dRE ST

P TFHRETH & THIGT Bl & 7
[1] PN fawesyg
[2] GRYEAT i A
[3] SARERET & HH

[4] GerToRs Hiagfe

Level-3/904

[8]

22.

25.

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] tFixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



26.

N
]

fed G| 9= BF AU B e
P 51 T8 T SR ©

[1] otfaRe SRR &

[2] & SARERET &

[3] SoTa STFEREm &

[4] T @ B T

2. UH 15 a9 & g H gfE qled

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110
s e & w9 § o9 foEnRiar &

SRR Eo I B CCor BTSN |
Frefafad & @ He-a1 F- 78f ST 7

[1] Asa @ e

[2] 9T & G B

[3] ufcifsran @t e
[4] FTErl RidT 1 aEr

29. @ S ‘&= @ R $ S0 e &,

FHEAT © :

[1] Rdfees @ied

[2] MrEEieed

[3] 9@

[4] g™

T T I 5 TR H ARERE © 7

[2] et
[4] QIS

[1] s=a
[3] ST

[91]

[A]
Rohit helps others to get praise. This
is an example of :
[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

What will be the
quotient of a 15 year old boy, when

intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/904



[A]

[10]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31. WiEEEl @ 3 ¥ orgm e

gﬁﬂ'{ :
[1] T - @9, deTREe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] =M - ¥R, IR, MU

32. 9 feq § foamEe 9= ™ & 5T

g R 7

[1] &5 ST %M @F HT ey
[2] A dfT gEIRy, Sk e R

[3] &9 8l &1 FB &l e bl
[4] ST A, S B A

33. ‘UMl gU-9 Il B dEd |

fohe U & FRET-faSiver @1 JERT gam
g7

[1] IaTe
[2] dfqars
[3] GRHATEES

[4] TS

Level-3/904

34.

qugd s =l & oad ST &
3ftc § 7 9F ® ¢

[1] €& - 38 dfed; =8 - de
(2] g3 - T AT - A
(3] el =, Feb; Gl - geaarg
[4] @SH - &Y; S9o1 - gl

5. G T @a d@ R aqw A

R ‘AT 9 diE-6 65 &
JETEI B 7

[1] YeEars qs1

[2] STicErEes |l

[3] WEaTES HEll

[4] HieTarerh Hl

36. FTH { BHI-G1 A FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= § % ¥ oY% SUTN @

ST e & 7
[1] Sty [2] v
[3] STgeH [4] =ty



38. U &l gfe § oG faehed T

[1] FThaaT -  HHEE
[2] QfERE - @Yoy
RIEIRE - I
[4] 3Ts - iR
39. T ey o foerl @ &1 sEnT gan
g7
[1] FffsY
2] Tags
[3] TR9RsT
[4] fFegX

40. =R H UILHH B ghe § ‘w@T
g% T 9 9 9 & e A 7

[1] &
[2] 9™
[3] <X
[4] =ffeb
41. foone @ gt ¥ o7@v [T T
[1] SR - AR
2] 9@ - StHE
[3] & - g
[4] @1 - TSET

[11]

[A]

42. =9 § &9 9= ¥ ‘oMET U @

ST 78 AT § 7
[1] TRiee [2] HelEe
[3] gTEe [4] TXEE

43. THRI FH e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &1

44, Y 9= § M @A B

[1] st
PAREII]
[3] ugE
[4] 9T
45. ‘TEH-TEHT H 3T W FGIT [
g
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/904



[A]

46.

50. Arrange

The word 'garrulous’ means :

[1] talkative [2] abusive

[3] violent [4] abundant

the following jumbled
options in the correct order and then

choose the correct option :
(1) too many
(iii) the broth

(i1) spoil
(iv) cooks
[1] (), (v), (ii1), (i1)
[2] (1), (iv), (i1), (ii1)
(3] (1), (iv), (i1), (1)
[4] (v), (i), (1), (ii1)

51. Fill in the blank with the correct

option :

Let us stay here, whileit ........... .
[1] is raining

[2] was raining

[3] has been raining

[4] had been raining

[12]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Which of the following options 49.
express the correct meaning of the
sentence given below ?
He is too cute to overlook. 50.
[1] He is too cute and he can be
overlooked.
[2] He is too cute but he can be
overlooked.
[3] He is so cute that he cannot be
overlooked.
[4] Although he is not cute, but he
cannot be overlooked.
41. Change the narration :
Kavin said to Mr. Cowper, "Please, 5.
be kind to me."
[1] Kavin requested Mr. Cowper to
be kind to him.
[2] Kavin requested Mt. Cowper to
be kind to me.
[3] Kavin asked Mrs Cowper to be
please kind to me.
[4] Kavin asked Mr. Cowper that he
must be kind to him.
52.

Fill in the blank with the correct
form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/904

52. Choose the part of the sentence that

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct ‘Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[13]

[A]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills.no one

[3] gathers no sauce

[4] gathers no moss

59.¢ Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/904

P.T.O.



[A]

[14]

- III (PART - III)
9 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o G &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [4wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

ed & g9 X JAY &l B -

TR W TE Ys 2l A Y H WeRr
X M@, @Y & Ye
g Remd & 7

[1] ST
[2] &RroT

3] @@
[4] UiS=™

62. @ , FRE R 30 @ o B

feam & 3 €2 ®, wafh amwl 4.5 g2
T FA 2 AR gW @ oA 3, R
gy der B, @ NG 9 H A9 el
T B -

[1] 10 febHt ufer geg
[2] 12 Tt ufe et
[3] 13 febHl uifer ger
[4] 15 TebHl et ger

10.5 841 Bear & Th Gig Hqen
fgares, 3.5 @4 Brewr qanr 3 &
e A B2 B gige § e R
ST &1 TedER, 39 JHR 99 o B
g f el ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/904

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138



64.

I P TR AP Thdls ST @
MR T 3 Iu H THIE AN

aﬁw%ws‘rw,a‘rwaﬁ
e X & :

[1] 16%%

1
2] 33-%
(2] 333

[3] 33%
[4] 50%
1865 @l & &/, 660 AsH T
g X 1305 =<1 99 & F,
120 =Rp a9 & § $s ft A

aid @R E, @l e
et Tl § 7

[1] 220
[2] 440
[3] 120
[4] 1085

44 3

3 >

:

66. TG P HUT T 20%. & FA B AN

W &F AEH 800 &9 ¥ 12.5 TR
AT SgE @8 adl 3, d =9Ed &
gq P gf e e B 7

[1] 1259 [2] 14 593
[3] 1559 [4] 16 59

61. [T9ON & TH JATHA H [OHN,

R BT 12 A T AR HOS
T Bl AR SEH AVES 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826
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64.

[A]
If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

2
11 16=2%
1] 162

1
2] 33-%
(2] 333

[3] 33%
[4] 50%

65. Out of~1865 people, 660 can speak

English.and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?

[1] 220

[2] 440

[3] 120

[4] 1085

A reduction of 20% in the price of rice

enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12 [2] Rs. 14
[3] Rs. 15 [4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736
[3] 2796 [4] 2826



[A]

68. T UT 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl Hemm @ 5, 9, 13 4 fowlm

H U HEM: 2, 6 A 10 A A
T U w99 B e ®

[1] 602 [2] 592

[3] 572 [4] 582

uh FREd f 9 § "PARTICLE"
@ "USBQFMDJ" @I "GENERATE"
@ "FOFHFUBS" fer@r e 8, & g6t
M T 99 ", "DOCUMENT" &
for@r ST -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFEFN
[4] VDPEUOSF

71. dF 7ol P, Q @R &1 T % 5 H

T 9RaT 31 79 R,

Level-3/904
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68. Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10
respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3) 572 [4] 582
In~ a certain code language

"PARTICLE" is  written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs
[2] 25 hrs
[3] 30 hrs
[4] 35 hrs



12.

W3+l
I X
(> +y?) &1 A9 ¥

aar y= ,ar

[1] 14 2] 12
[3] 13 [4] 16

qefEal @ uh uRe H, A I o 9
103 T WX qar B It oiX @ 144
WM W ¥, 3% 3 oo Raferl e
geq ol §, ar A 9@ e § 243
WM W & I g, ue § asfea @
He e & °

[1] 31

[2] 33

3] 37

[4] 39

14. TF THTER TF & B 15% @9 I

ST 8, OFR IE9 I 18 U &1l
9 S B, A IEE A 18%. &
Sl 39 a&] 1 H9 Jh-(%o 9) © ¢
[1] 360
[2] 540
[3] 600
[4] 640

T e SEE 9000 B, A gESt
P TEEAT e W 5% SR wieanst
P FghE W 8% o T TH Ty A
SHEA 9600 B, o JeSl &l e
g

[1] 3000

[2] 4000

[3] 5000

[4] 5600
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[A]
J3+1 \/5—1
If x= and y= , then the
J3-1 N
value of (x> +y?) is :
[1] 14 [2] 12
[3] 13 [4] 16

13. In a row of girls, A is 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
(2] 33
[3] 37
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :
[1] 3000
[2] 4000
[3] 5000

[4] 5600



[A]

D,CTME & @ 8, A, E & otfe
T Rl 8, C, AQ T, D, B A
A @ WE T, A T ¥ BN
qaq T B 7
1] A
[3] C

[2] B
[4] D

11. TF TSH & BEU® H AKX G

XA BT X ¥ %l i ‘g8 A & S
% IR P B qSH &7, A T
X | g TR d@dg 8 ?

[1] fo 2] «E

[3] =1 [4] T

Ueh A 391 Al ermel g4 § uf¥em
H SR ST W@ & T I q ST
&R & T I B, A ST gIAr BE
fesm & S ?
[1] So-To
3] To-Yo

fr=1 g aoft 1 e e R

[2] So - Jo
[4] S0 -Yo

3,13, 22, 32,59, 69, 120, 130, ?
[1] 201 [2] 211
[3] 227 [4] 232

80. 9 HiUH HEeT H AEI n B, AL ITH

A T @S B MEA B R
S, F S S b @ S ?

[1] @& 99 &
[2] 1% gfa &rl
[3] 1.5 @I gis erft
[4] 2 @t ghs eFf
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16.

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3]-Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W [2] N-E
[3] S-E 4] S-W

79. The next term of the following

number series is :
3,13, 22,32,59, 69, 120, 130, ?

[1] 201 [2] 211
[3] 227 [4] 232

The average of nine consecutive

numbers is n. If the next two

numbers are also included, the new
average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5
[4] increase by 2



8l1.

BRATT & o W ® AR

IR 9 & ded (IR I & &9

¥ arfergfe fear T © 7

[1] gOMYR TSE a3 HeEm™
FeNg ARG

2] O TEF SgF SR GuRarq
FeIg ARG

[3] EX g9eild TR &R &R
T g eila A9IRTY

[4] SGMEX  TIOE  AWEARTG ¥R
TIA-EI-3dM a=Ieild STHIRYY

82. ifhd FeMi W fa=aR R :

() eRAmm § omgE Hen o @l
T a¥ 2002 F #t ot

(i) =Y W O eRAen U @
T Sliehrger €|

[1] 39 (i) T 2
[2] daa (ii) & B
[3] ()W (ii) S &Y 2
[4] ()T (i) AT T 2

83. BRAM & fFE X B & o ax

BRI % &9 | S S B 7
[1] J&IH
[2] HFHT
[3] T
[4] Tt
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81.

[A]

Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &

Bhindawas Wildlife Sanctuary

Park &
Khaparwas Wildlife Sanctuary

Kalesar National

(2]

[3] Nahar Wildlife Sanctuary & Bir

Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &

Khel-Hi-Raitan Wildlife Sanctuary

82. (Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (i1) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

[4] Bhiwani
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84. M F FHMEGd ©Rel H 9

86.

fre g @i ® RS @ g urd
g7

(i) G TG F THIA
(ii) S AR dras

(iii) HrRAr HfY B
7& HE F T HIT
[1] (i) &R (i)

[2] (ii) X (iii)

[3] () A (iii)

[4] (i), (i) & (i)

85. BT % oMM &R F Sy

giaegrett &1 fae w9 & fog e |
q D der FRRR B 7

[1] BRgH

[2] &1

[3] CHUHARATEEH]
[4] Rt ST &=

Frefefed & @ a9 eRaem &
T % &R g 78 & 8 ?

[1] REmT & gegus
[2] U9 TG ERAOT I <AEFed &l
T

[3] eRAOT @6 "AT SN W
S

[4] eRATT AFEEER SRR H 95
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (@), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

IR TP 1 o A 0 | = e
B T AABIE o7 ?

[1] T G&T it
[2] STogE ol BTl
[3] 4l &l Hed
[4] 1Y TTAR

RN Y8 9 AT & AR A

fFfaiaa ®aAl @l afeg ¢

(i) I8 A9 9RO B T THE D
w1 f Rfd & & ok W
BRAOT % GHE URERl B Th
fasaeg  Ae-ontds  Sered
TR K @ 2

(i) 9% URAR H TH S bl Hl
fodeeT aRaR UeAM  STEfed @i
W W@ ? SR yeEm (ID). #
S, gg W Jdied. Naed &
ST S|

(iii) AR TeaM Se@d H Suqe ST
& SN faT Heaoep FioTist
¥ @ 9 3g B Smam @R
ROt # @d deel & [

S A Pl STAIHA 18] Rl
7& FT B T HIOT
[1] Faq (i) & B
[2] () o (i) @& &
[3] (i) &N (iii) &
[4] (i), (i) 3N (iii) @& |
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81.

[A]

Who among the following Governors
of Haryana was a civil servant ?

[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
awunit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(ii1)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.
[4] (1), (11) and (1i1) are correct.

P.T.O.
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9.

g & T % §99 H

fr=ifeiiea wuei W foar ST -

() T& eI = [eafEE @
FHaeR Bl

(i) 98 T & Fel & TH & 95 @l
gRT HY b Bl

(ii)a& =heqd T HE  aEEd,
BRATOT [T IR B ST B

(iv)32 Giea & o= B
wiaaag afd o< =&

S | DE-AUA I 78 ofs !

[1] @), (i), (iii) R (iv)

[2] (i), (iii) 3T (iv)

[3] ®aa (iii)

[4] (ii) R (iii) ST

gaen ¥ @ 99 oY TS |l &
g 2 :

[1] 73R 4

[2] 103X 4

[3] 103X 5

[4] 123X 5

[22]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red
Cross Society, Haryana State

Branch.
(iv)He does not have any
discrétionary power  granted

under the Constitution.

Which of the above statement(s)
is/are correct ?

[1] (1), (i1), (ii1) and (iv)
[2] (i1), (ii1) and (iv)

[3] Only (ii1)

[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/904
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HFT - IV (PART - IV)
Y& (SANSKRIT)
3% : Rt g7 % a7 &7 & [ qag ST [Awey g

91. PREHETTA FeEFTarsR -
[1] |1 I ST
[2] o€ o g
[3] &1 HE gt
[4] © | gHEaf

92. B<Eg foweds To: wafd -

93. Wy - f&Hi® gigy T TFd -
[1] =Y 7oA
2] & &
[3] & ==
[4] sl sl
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94.

g T -

[1] BrygfEfga =7,7,7
[2] gaiea: =12,7
3] W@: & =89
[4] D = 8,7

95. IHHCYR SgUaviagEEe afred |
qqaﬁr_

[1] 899 &A1 STgh:

[2] Ry

[3] T&: arfe: o FRede:
[4] TR

96. ‘NHAE IO TAIGYET: HEHAAR]

Aoy -

[1] BT
[2] ShepYars:
[3] ShbEAT:
[4] STy

91. Y& AFIHRT -

[1] dreed e Fonskal
[2] §: o zar: Magrd
[3] =R ARl

[4] T A TXHUCH|



RENEISERR
[2] AvdERTE
(3] HegTe
[4] HAREEITE
100. Y URY SMEA AN HESATHARA
gd A -
() it (31) 48
(@) dareer: (am)56
() TR (3) 68
(9) Rrafef (3) 60

21 3 & o 3§
3] &1 o1 3§ 3§
41§ & o 3
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101.

=
N

=
w

=
TSN

FATEITT: ST AR -
[1] rom
[2] Gerer
[3] ST

[4] T

yifaEr g ARG -
[1] SeEAr~egaan 9
[2] STRrTIEAY HHToT
[3) F@MT AR ar

[4] T T HG A

FRUATSAIY Heeed dad & RiErar:
IS e o gy ?

[1] =& &

[2] =qEQr |

[3] U= &l

[4] SI=Q &

T 3 9= & Siieged adad -
[1] &

[2] 99

3] eng

[4] STg
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105. ‘HIY: YLTH Wald, I T ULFI 100. “FdcereraisRa sr=rsl FaE
A=’ et - | SRR -
[1] TERes [1] fasa=mee
[2] dRREReTS 2] SRAT:
[3] FAETARTTS (3] T
[4] TEehRITS (4] ST
106. Tl fowfeT: SR - 110. ‘MA@ - HEd 3 veaq-a=d
(1] Tag - T&: - T TG A fwidae fgd -
[2] ARRH - ARRI - A0 [1]] Ta-iEaey - JeHEgaaT]
[3] & - A=ty - gt PARERIRIEECERE: B ECIRICFERRE|
[4] Tl - T - [3] T3AHTATH - TSR
loz. ‘e’ T IR AT AT [4] fediemegaesy - Td%aeey
geghichtd HEg IFE STy: 7 A A A
" - 111. F O TEhR J&FY AETIREuHE -
[1] g
[2] A<HIEIT
[2] argaw
[3] SIS
3] erepeed
[4] STSCHIZI
(4] ergfd
108. g TATHATNSRA -
112. SR: HHCT 99 o1 FERN dqd -
[1] Sy
[1] 9 - 9&d
[2] gy (2] s - o
[3] =T [3] foefa - wiga
[4] ey [4] ferafd - wed

Level-3/904 P.T.O.



[A]

113. FYRQ: FEWEEHET add -

o
el

o
el

o
el

[1] &g - Swea

[2] &§ - e

(3] 98 - g

[4] g - afden

Y, A GRILE AmewEgi ...
qreR SR SR g -
[1] ST¥f7aq

[2] SO

[3] s15™H

[4] s1gonH

‘qy’ 3fq g qYfad w9 IR«
[1] T - Igeeaaq

[2] FET: - TEIHAATH

[3] 9T - AT

[4] agq - fadmaeTy
faferr’ gerer qeuR=asia -
[1] fa + == + Y

[2] fo + =g + 39

[3] fa + o + &Y

[4] & + g + g
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e
[

el
e

[==1
ot

=
N

‘B TeITE G TSR -
[1] TRE:

2] FFEHR:

[3] TBIOT:

[4] SR

56 e fFrfe seq: THR -
[1] sl

[2] st

[3] et

(4] ST

R’ =T T TR -
[1] T&dar-faa=m - arfr
[2] SeHI-SEE= - At
[3] =qei-Teher=e - A
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g eTeTclI & SET,

SN LIKC/REE ]

gRedid & s -
Rl RIS G TR

I FBISTSIC 7
[1] fersrem
[3] STuggfer:

[2] TEMEIR:
[4] @R



121. OGRS HUTETe SR -
[1] feraenemerdeny
[2] EuweTETE:
[3] SRR
[4] TR

=
N

JaTE{HRT -
[1] TETSJAeRear:|
[2] G4 S 4|

[3] iU FehTeasT:|

EARBIEUCEEIRIERIIGT
Y- M- ST
JEEUHR -

[1] 7 T

[2] & e

[3] 3

[4] ST FTfe

RINEI

=
w

=
N

‘T, A
AT i -

[1] FErRE IR qREae:
[2] HISTE:

[3] TR ST ST &t
[4] 8 7

IW}
N
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125. ‘QORY ST YRR SHER SR -

el

et

ot

[1] 9l 5 9=l =
[2] areft & 9Rr
[3] 9 = 9 =
[4] T greow

o g TR SR -
[1] ¥9ehIL:

2] TdleT

(31 TgTa:

[4] AHTRIT:

R STt | G B (o N
qyfeisy: ?

[1] Hre:
[2] &
KIRSIECIE
[4] ST

. e -
[1] HgHTHY
[2] H=ITH
[3] FuTeHITRHY

[4] SRy
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129, ‘I AIGARGS G SR s -
[1] qduR STer: SFI:
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[2] TEREHEIIS
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[4] SATRETATE
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[1] gerafn
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R AN GRS IS
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[1] g

[3] SeF
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[4] iUy

[2] SEHTEeE
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135. g& dRHRG - 139. YIAAEHHE: HRAY T wafq ?
[1] A gfesT arf [1] fasome
[2] Fa&T: Erm 2] Fgd
[3] e e e [3] @bl
[4] Stfeash: GTHIIE] GeT| [4] STyt
136, PR AR A | derg o gy | M40 TN @ SR G g @
1 R e e JeATRI S AR TR HISY: ?
1] ST
[1] Ho Sl Ioae AT 1]
. PAGERE
[2] Go qgHsmEH
[3] &
31 ¢
3] do AYEET oEm 1) s
[4] Yo AYTFTHATERN P T —
137. 9IS fodhera: Wi - P
e [2] acTH:
[2] o [3] drs:
[3] Tehrast 4] Frgah
e 142. ARHIT-TGGTEHE: Hifqel wafq ?
138. @R 0 SRR )
G Hed BRURE qad ? :
[} g - T [2] o
2 adg
[2] a9 e qel ) o
[3] 79 I TEH
[4] TR [4] Hefee:
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143. ‘Frhale’ S G iR 147. TR R THEGT HAA -
TR - [1] STaaw=mE:
[1] P FeT: [2] Ik
[2] S ST RIBEILERIESE
[3] BT SR [4] sy
4] FEE TR 148. ‘TWa WH FI W I FlAAEERE
14 R &: 7
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0 ; [2] Mo-Sfvaray
[3] TR Terss:
[2] FEgaR >
[4] ReEamEm:
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[1] fefrics
145. UK o 9199 IRARTART -
2] I
[1] TRISEHAT
[3] T
2
[2] TAUTSTEHOTE 4] Eﬁ'c:
[3] MuSTEHCTE 150 g aT R -
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H = [1] AT
146. TRQEGREET  ‘Grd U@ gy
gafeaRa - [2] ATa=8T
[1] R [3] HEEAT
[2] FREHEE [4] TR
[3] SAfarei¥eaneTe
[4] SAfHfearazaiesTq
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.
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. 9l I 390 OMR I TF T & ik H T IT AFYI

. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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[*] means 1 mark given
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